. VCE & PDF https://www.pass4itsure.com/1z0-434.html
g 2024 Latest passditsure 120-434 PDF and VCE dumps Download

PassditSure.com

170-4340%A3

Oracle SOA Suite 12c Essentials

Pass Oracle 1Z20-434 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/1z0-434.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase
Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest 120-434 Dumps | 120-434 Practice Test | 120-434 Exam Questions 1/3


https://www.pass4itsure.com/1z0-434.html
https://www.pass4itsure.com/1z0-434.html
https://www.pass4itsure.com/1z0-434.html

VCE & PDF https://www.pass4itsure.com/1z0-434.html|
a 2024 Latest passditsure 170-434 PDF and VCE dumps Download
== / PassditSure.com

QUESTION 1

Which statement is correct about how if-then rules are processed during an inferencing session?
A. Rules are evaluated in the order in which they were added to the ruleset.

B. A particular rule can be fired only once in an inferencing session.

C. The effective date set for a rule can take it out of consideration for evaluation.

D. A priority setting of 1 will cause the rule to fire during each inferencing session.

E. Rules with multiple IF conditions receive higher priority during evaluation.

Correct Answer: A

QUESTION 2

As an Oracle SOA Suite composite moves through the software development life cycle, certain environment-specific
changes must be made to the composite configuration from deployment to deployment.

Which feature can help you capture and effect these changes?
A. Configuration Plans

B. Deployment Plans

C. Domain Value Maps

D. Property Files

Correct Answer: A

QUESTION 3

For each enrollment request message, a health insurance carrier\\'s web service always returns a response message
acknowledgement the receipt of the enroliment request. If there are problems fulfilling the requested enrollment, the web
service may respond at a later time with an additional response message detailing why the enroliment could not be
fulfilled.

Which Oracle SOA Suite service component should be used to implement this integration pattern?

A. BPEL Process

B. Mediator

C. Business Rule

D. Human Workflow

Correct Answer: C
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QUESTION 4

Identify four situations in which you can configure a notification for a human task.
A. task created

B. task completed

C. task opened in workspace

D. task errored

E. outcome updated

F. task assigned

Correct Answer: BDEF

QUESTION 5

Which two statements accurately describe the invoking of a human task?
A. A web service client in a different composite can invoke a human task.
B. A human task can invoke another human task in the same composite.

C. A BPEL process can invoke a human task in a different composite.

D. A human task can invoke another human task in a different composite.

Correct Answer: CD
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